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SD DEPARTMENT OF REVENUE
PROPERTY AND SPECIAL TAXES DIVISION PHONE: (605) 773-3311
445 E. CAPITOL AVENUE Fax: (605) 773-6729
PIERRE, SD 57501-3185

TO: Directors of Equalization
FROM: Department of Revenue
Property Tax Division
RE: Productivity Valuation Adjustments
DATE: July 1, 2013

The enclosed document is for reference on how to document and make adjustments under the
productivity valuation of agricultural land.

Adjustments should be productivity related.

Adjustments need to be reviewed each year. These adjustments also need to be quantified,
qualified and justified each year.

The Department of Revenue will review any adjustments to ensure that the adjustmentis
warranted, that it was made in a fair and equitable manner, and that it is documented when

making our determination of factors for agricultural property.

Documentation may include but is not limited to photos of property, aerial maps, soil maps,
production data, rainfall data, sales, etc.

It is important that you view and photograph as much of your agricultural land as possible.
There are tools that you can use in-office. BUT - - there is nothing that beats the personal

inspection of the property.

HOW TO MAKE ADJUSTMENT(S)

Do not change the original soil classification, soil rating, or the capability class of the
soil. If capability of the soil is crop - - leave as crop. This means a crop rated soil will
get the crop dollar value. A non-crop rated soil will get the non-crop dollar value.

Adjustment Guidelines for the 2014 Assessment Year
Department of Revenue
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ADJUSTMENTS

The basic approach to valuing agricultural land is to use the soil survey and associated tables. The
Table 1A, produced by the Department of Revenue, shows each map unit in the county, the soil rating
and the indicated capability or highest and best use of the soil. This is the starting point for the
assessor. This will have all soils of the same map unit valued the same, regardless of where it is at in
the county. To change from this “base” number would mean to adjust the value of the property.

Any adjustments must be approached with the questions: “Is any adjustment needed?” “If so, how
much of an adjustment is needed?” If it is determined that an adjustment is needed ,it must be

documented and applied in an equitable and uniform manner.

Keep in mind that rarely do you have a parcel that has all crop rated soils, or all grass rated soils.
There is usually a mixture. If a property is predominately grass rated soils and has some crop rated
soils in it, do you need to adjust the crop rated soils? If a property is predominately crop rated soils
and has some grass rated soils in it, do you need to adjust the grass rated soils? Maybe, maybe not.

Property values should be first viewed as the property as a whole - - by the legal description.
Such as - is the value of the quarter of land similar to the quarters of land next to it? Are the
values of the section similar to the section next to it? Are the quarters / sections similar in

soils, terrain, topography, surface obstructions, etc.?

CAPABILITY — The starting point to the agricultural land valuation system is the rating system
produced by the use of the soil survey. Any given parcel is made up of several types of soils, each
having their own rating and “capability”. Very rarely will you find a parcel of land that has all crop rated
soils or all grass rated soils. It will be a mixture of “crop rated” soils and “grass rated” soils. How a
property owner “uses” the land should not dictate how the valuation is established for tax purposes.

See Mortenson v. Stanley County, 303 NW2d 107 (SD 1981).

The starting point to the valuation would be to use the capability rating and value of the individual
soils. This way the same soil starts at the same value per acre county wide.

All properties should be personally inspected and viewed to ensure there is an accurate inventory of
the property and all amenities of the property.

For agricultural land, one of the first things to do is to determine is if the property is planted to crops,
or is it in grass. Why is it being cropped, or put to grass? Is it planted to grass because of a
management decision not to crop it? Or is it planted to grass because it cannot be cropped, due to

access, terrain, etc.

The Department of Revenue does not have a “laundry list” of reasons to adjust agricultural
land valuations. We do not want to tie the hands of the Director of Equalization to only certain

reasons to adjust agricultural land values.

The following is a list of some examples of adjustments. This is not a complete list. Also, just because
the adjustment is listed does not mean the adjustments HAVE to be made for any of these reasons. If
a specific type ofadjustment is not listed, that does not necessarily mean it cannot be made. 1t is still
the decision of the Director of Equalization to determine if adjustments should be made.
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ADJUSTING ENTIRE TOWNSHIP _
Place an adjustment factor on the entire township to adjust all agricultural land in the township by the

percent documented for the adjustment.

EXAMPLE: Township is in an area that receives more rain than the rest of the county. You want to
apply a 10% increase to the value because of difference in yield data due to rainfall

Within your computer system, apply an adjustment that will increase all agricultural land by

10% :
Make notation on each property card that the value was adjusted for “rainfall factor

adjustment”

The reason the adjustment is needed and the amount of the adjustment must be documented.

ADJUSTING ENTIRE PARCEL (factors that affect the parcel as a whole).
Place an adjustment factor on the parcel to adjust the entire parcel of land value by the

percent documented for the adjustment.

EXAMPLE: Parcel is currently valued at $115,300 and you want to apply a 10% increase to the value
because of difference in yield data due to rainfall
$115,300 + 10% (11,530) = $126,830

The reason the adjustment is needed and the amount of the adjustment must be documented.

ADJUSTING SINGLE SOIL (factors that affect only certain soil types within the parcel)
Place an adjustment factor on the soil to adjust that particular soil by the percent documented

.or the adjustment
EXAMPLE: You have a crop rated soil that needs to be adjusted due to excessive stoniness and you

want to adjust to the non-crop rating (will still start with the crop dollar vaiue and the crop rating)

Crop rating = .875 non-crop rating = .462
Apply a downward adjustment of 47.2% for that soil.

Crop top dollar of $900

Crop rating of .875

$900 X .875 = $787.50

less 47.2% (787.50 X 47.2% = 371.70)

$787.50 — $371.70 = $415.80 (dollar value applied to the acres for this soil)

The reason the adjustment is needed and the amount of the adjustment must be documented.
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INUNDATED BY FLOOD WATERS - property which has been inundated by flood waters and not
farmable during the past three growing seasons. The Director of Equalization shall use the marshland
sail rating classification to determine the value of the acreage inundated and not farmable. (SDCL 10-
6-33.21). Because this is usually a lower rating, it will produce a lower value. The lower rating

indicates a lower productivity of the soil.

SDCL 10-6-33.22 states any property owner may request the director of equalization to specially
assess the land for being inundated by flood waters by submitting an application by November 1.

Do not confuse “inundated by flood waters” with a soil that is normally wet. Refer to the capability
subclass of the soil.

HOW TO ADJUST

ADJUSTING SINGLE SOIL (factors that affect only certain soil types within the parcel)
Place an adjustment factor on the soil to adjust that particular soil by the percent documented

for the adjustment

EXAMPLE: You have a crop rated soil that needs to be adjusted because it has been inundated by
flood waters. You want to adjust o the marshland rating (will still start with the crop dollar value and

the crop rating)
Crop rating = .875 marshland rating = .100
Apply a downward adjustment of 88.6% for that soil.

Crop top dollar of $900
Crop rating of .875
$900 X .875 = $787.50

less 88.6% (787.50 X 88.6% = 697.73)
$787.50 — $697.73 = $89.77 (dollar value applied to the acres for this soil)

IRRIGABILITY —this does not mean land that is irrigated. It means land which has the ability of being
irrigated. Such as agricultural land that is located in an irrigation district that has the ability to receive

water.

HOW TO ADJUST

ADJUSTING ENTIRE PARCEL (factors that affect the parcel as a whole)
Place an adjustment factor on the parcel to adjust the entire parcel of land value by the

percent documented for the adjustment.

EXAMPLE: Parcel is currently valued at $115,300
Want to apply a 10% increase to the value because of difference in yield data due to
irrigability
$115,300 + 10% (11,530) = $126,830

Adjustment Guidelines for the 2014 Assessment Year A4
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ROCKS ~ Rocks, or stoniness, is a characteristic accounted for in the soil map unit. However, a soil
map unit may indicate it is stony, but the same map unit may have varying degrees of stoniness in the

county. Care must be taken in approaching any adjustment for this area.

HOW TO ADJUST

ADJUSTING SINGLE SOIL (factors that affect only certain soil types within the parcel)

EXAMPLE: You have a crop rated soil that needs to be adjusted due to excessive stoniness. You
want to adjust to the non-crop rating (will still start with the crop dollar value and the crop rating)

Crop rating = .875 non-crop rating = .462
Apply a downward adjustment of 47.2% for that soil.

Crop top dollar of $900
Crop rating of .875
$900 X .875 = $787.50

less 47.2% (787.50 X 47.2% = 371.70)
$787.50 — $371.70 = $415.80 (dollar value applied to the acres for this soil)

RAINFALL - Weather patterns in the state historically shows greater rainfall in the eastern part of the
state than in the western part. The same holds true within any given county and sometimes within a

township.

HOW TO ADJUST

ADJUSTING ENTIRE PARCEL (factors that affect the parcel as a whole)
Place an adjustment factor on the parcel to adjust the entire parcel of land value by the percent

documented for the adjustment.

EXAMPLE: Parcel is currently valued at $115,300
You want to apply a 10% increase to the value because of difference in yield data due

to rainfall
$115,300 + 10% (11,530) = $126,830

A Source of information:

http://climate.sdstate.edu/climate site/climate.htm
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HOW TO DETERMINE AMOUNT OF ADJUSTMENT

In reviewing information for adjustments, you need to make sure you are looking at all the data to
make your determination.

ADJUSTMENT EXAMPLE: You have vield information that shows Township A
produces 5% more on all crops than Township B and the rest of the county.

Question: Do you make an adjustment based on this information? And if so, how much?

Answer: You need more information. Possibly the reason Township A produces more on all
crops than Township B and the rest of the county, is that Township A has better soils than anywhere

else in the county.

You need to also incorporate the weighted ratings of the township (all, crop only, grass only) to
try to determine if the adjustment is needed. Such as, if the weighted rating of Township A is 5%
higher than Township B, then possibly having a 5% difference in production is because of the soils.

And that is already taken into account with the ratings.
if Township A and Township B have similar ratings, then maybe a 5% adjustment is needed in

Township A to reflect the difference in production.

Care must be taken to ensure that the 5% increase in production is NOT due to management
(irrigation, better farming practices, etc)

ADJUSTMENT EXAMPLE: You have rainfall information that éhows Township A, B, and
C, on the eastern side of the county receives 10% more rain during the year than the

rest of the county.

Question: Do you make an adjustment based on this information? And if so, how much?

Answer: You need more information. A 10% increase in rainfall. How much does this
increase productivity?

You need to also incorporate the weighted ratings of the township (all, crop only, grass only) to
try to determine if the adjustment is needed. Such as, if the weighted rating of Township A is 5%
higher than Township B, then possibly having a 5% difference in production is because of the soils.
How much is due to just the extra rain?

If you have information that shows production on the eastern side of the county produces 15%
more than similar properties on the western side of the county — you could reason that a 5% is due to
the better soils, but 10% is due to rainfall. In this case you may want to make a 10% adjustment on
the eastern townships due to rainfall.

You may want to look at sales. BUT make sure you are not using sales that have non-
productivity influences (close to a municipality, a new rural development, etc.) For instance, if you
have sales from the eastern side of the county that show the land on the eastern side is selling for
12% more than similar land on the western side of the county, you might make a 12% adjustment on

the eastern townships due to rainfall.

Adjustment Guidelines for the 2014 Assessment Year
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HOW TO DOCUMENT ADJUSTMENTS

Documentation may include but is not limited to photos of property, aerial maps, soil maps,

production data, rainfall data, sales, etc.

DOCUMENTATION EXAMPLE:

TOWNSHIP ADJUSTMENT / PARCEL ADJUSTMENT

increase in value to the eastern tier of townships

You have determined that you need to apply an 8%
due to “rainfall factor adjustment”

Suggested documentation:

On each parcel, you make a comment that the parcel value has been increased 8%

a)
due to “rainfall factor adjustment”

b) You have data from un-biased source(s) that show the rainfall for the different
areas of your county for the past several years

c) You demonstrate how you quantified the percent adjustment for the “rainfall factor
adjustment”
This can be done by use of the differences in rainfall, township / parcel ratings,
selling prices (making sure not to use any non-productivity influenced sales)
Show maps of the differences in rainfall.
Show maps of the variations in the township / parcel ratings.
Analyze sales of agricultural land, including the parcel rating analysis, to show the
difference in the selling prices of the land.

PARCEL ADJUSTMENTS

1) You have determined you do NOT need to adjust a soil that has crop capability, but is within a
pasture, of mostly non-crop rated soils. (It is crop capable, so therefore produces more and better

grass)

a) You have soil inventory of like properties

b) You have photos of like properties

c) You have photos of the crop capable soil producing more grass than the non-crop
rated soils. (use a yard stick to show the greater height of the crop capable soil grass
as opposed to the height of the non-crop capable soil grass - the photo will show more

denser grass on the crop capable soil)

Adjustment Guidelines for the 2014 Assessment Year
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2) You have determined you need to adjust a parcel due to excessive stoniness. The soil
capability subclass does indicate stoniness, but in most areas, there 10 stones the size of softballs
within a square yard, but in this parcel, they are 4 stones the size of toasters in the same size area.

a) You have soil inventory of like properties
b) You have photos of like properties
c) You have photos of the similar soil types with different variation of stoniness

You determine to do a map unit adjustment from the crop rating to the grass rating. (do not
CHANGE the capability or the rating - - do a map unit adjustment.)

BOARDS OF EQUALIZATION

This information is a guide for the Director of Equalization and boards of equalization to use in making
adjustments to assessments.

The equalization process is the same under the productivity system as it was prior to implementation
of the new system. The Director of Equalization makes changes to the assessment on an annual
basis. Assessment notices are sent to the property owner by March 1 of each year. The property
owner then has the right to appeal the value of his/her property thru the equalization process.

The boards of equalization have the responsibility of hearing the property owner’s appeal and acting
on such appeal. The board will either change the value or do a no change to the value. The board
should make their decision based on the same guidelines given for the Director of Equalization for

making adjustments.

The boards of equalization should not be discouraged from making adjustments during boards of
equalization hearings. Appeals to the boards of equalization are sometimes a good indication of areas
the director of equalization needs to review for the following assessment year. Directors of
equalization may sometimes even recommend changes to the board of equalization after they have

done further review of the properties.

Adjustment Guidelines for the 2014 Assessment Year 8
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Below is the mathematical proof of the soil adjustment simplification.
Four original Equations (See Appendix A-5)

GrassRating

- W) = AdjustmentFactor

1) (1
2.) CropDollar x CropRating = CropPerAcreValue

3.) CropPerAcreValue x AdjustmentFactor = AdjustmentDollar

4.) CropPerAcreValue - AdjustmentDollar = AdjustedDollar

There are only three actual variables in these ¢

i
Alf other variable are mathematical combinations of these original three. Inordert

need to combine these four formulas into one which use only these three originai vari

GrassRating

— 2 = 1 D
CropRating) AdjustedDollar

CropDollar x CropRating — CropDollar x CropRating (1 -

{This is equation 4 where substitutions have been made, for example 'CropPerAcreValue’ has been

5

ti
replaced with 'CropDollar x CropRating” from eguation 2.)

Next it is necessary to simplify this equation:
Divide each side by the CropDollar:

. . GrassRating AdjustedDollar
CropRating - CropRating (1 - ) =

CropRating CropDollar
Multiply the CropRating through the parenthesis:
CropRati CropRati G Rati AdjustedDollar
_ + =
ropRating ropRating rassRating CropDollar

Positive and negative CropRating negate each other:

AdjustedDollar
CropDollar

GrassRating =

Multiple both sides by CropDollar {(moving Crop Dollar back to the left side):

CropDollar x GrassRating = AdjustedDollar

This is the formula in its simplified form. The grass rating is being multiplied by the crop dollar.
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SD DEPARTMENT OF REVENUE

PROPERTY AND SPECIAL TAXES DivISION PHONE:  (605) 773-3311
445 E. CAPITOL AVENUE Fax: (605) 773-6729
PierRE, SD 57501-3185

TO:

FROM

RE:

DATE:

Directors of Equalization
: Property and Special Taxes Division
Productivity Valuation and SDCL 10-6-77

July 2015

Enclosed is information for the 2016 productivity valuation system.

The 2012 Legislature passed HB 1003 which states:

10-6-77. For the taxes payable in 2014, 2015, 2016, 2017, 2018, and 2019, the total taxable
value of cropland within any county may not increase or decrease more than;,

(1) Fifteen percent in any year, if the county is less than thirty percent from its full

agricultural income value;
(2) Twenty percent in any year, if the county is thirty percent or more but less than fifty

percent from its full agricultural income value; and
(3) Twenty-five percent in any year, if the county is fifty percent or more from its full

agricultural income value.

For the taxes payable in 2014, 2015, 2016, 2017, 2018, and 2019, the total taxable value of

noncro

pland within any county may not increase or decrease more than:

(1) Fifteen percent in any year, if the county is less than thirty percent from its full

agricultural income value;
(2) Twenty percent in any year, if the county is thirty percent or more but less than fifty

percent from its full agricultural income value; and
(3) Twenty-five percent in any year, if the county is fifty percent or more from its full

agricultural income value.

Keep in mind that this limitation is on a county wide basis, not on a parcel by

parcel

basis.

You were provided a worksheet last year with your productivity valuation, and what the
“limited” productivity valuation was for the 2015 assessment year. That is our starting

point for the 2016 assessment year.

Following is an explanation of the productivity worksheet enclosed.
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THE WORKSHEET NUMBERS

Cropland Valuation information:

Line 1

Line 2

Line 3

Line 4

Line 5

Line 6

Line 7

Line 8

This is the 8-year Olympic average of crop revenue, as reported on your county’s
2016 Productivity Information chart. This number is a six-year average of the
gross revenue per acre for 2007 through 2014, with the high and low years

removed.

This is the cropland landlord share percentage. This percentage is set by statute
in SDCL 10-6-33.28(1).

This is the revenue that will be capitalized to determine the average value per acre
of cropland in the county. It is Line 1 multiplied by Line 2.

This is the capitalization rate of 6.6%. This percentage is set by statute in SDCL
10-6-33.28.

This is the average productivity cropland value in the county, BEFORE applying
the limitation contained in SDCL 10-6-77. Itis Line 3 divided by Line 4.

This is the average cropland value in the county AFTER applying the limitation
contained in SDCL 10-6-77. This is a comparison of Line 5 to the 2015 cropland

value.

This is the crop weighted rating for your county as listed on the Department of
Revenue Table 1. A weighted rating is determined only on the crop rated soils.
(see attachment “Acres and Weighted Ratings”).

This is the projected top dollar for cropland in your county. It is Line 6 divided by
Line 7.

Non-Cropland Valuation information:

Line 1

Line 2

Line 3

Line 4

This is the 8-year Olympic average of non-crop revenue, as reported on your
county’s 2016 Productivity Information chart. This number is a six-year average of
the gross revenue per acre for 2007 through 2014, with the high and low years

removed.

This is the non-cropland landlord share percentage. This percentage is set by
statute in SDCL 10-6-33.28(2).

This is the revenue that will be capitalized to determine the average value per acre
of non-cropland in the county. Itis Line 1 multiplied by Line 2.

This is the capitalization rate of 6.6%. This percentage is set by statute in SDCL
10-6-33.28.
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Line 6 This is the average productivity non-cropland value in the county, BEFORE
applying the limitation contained in SDCL 10-6-77. ltis Line 3 divided by Line 4.

Line 6 This is the average non-cropland value in the county AFTER applying the
limitation contained in SDCL 10-6-77. This is a comparison of Line 5 to the 2015

non-cropland value.

Line 7 This is the non-crop weighted rating for your county as listed on the Department of
Revenue Table 1. A weighted rating is determined only on the non-crop rated
soils. (see attachment “Acres and Weighted Ratings”).

Line 8 This is the projected top dollar for non-cropland in your county. It is Line 6 divided
by Line 7.

Step 3: Reconciliation of Undocumented Adjustments.

If you are using the Department’s “official” Table 1 without adjustments and have not made any
parcel, township, or other adjustment not documented with the Department, you are done. You
can use the crop and non-crop “top dollars” provided on line 8 of the worksheet to calculate your
assessed values for 2016. :

If you have adjusted your Table 1 ratings, made parcel, township, or other adjustments not
documented with the Department, you will have to evaluate those adjustments to see whether
they are significant enough to require you to take them into account to comply with the
requirements of SDCL 10-6-77.

SDCL 10-6-77 prohibits you from increasing or decreasing the total value of cropland or non-
cropland in your county by more than the percentages set in statute. Step 1 above shows how
we calculated your current cropland and non-cropland values per acre. However, those
numbers will not be accurate if you have made significant adjustments not documented with the
Department. You will have to reengineer your undocumented adjustments, to see whether they
require you to change your top doliar values to comply with the limitation contained in SDCL 10-

6-77.

Because there are so many ways to make undocumented adjustments, it is not possible to
provide meaningful instructions on how to reconcile them with the requirements of SDCL 10-6-
77. The most important thing is to ensure the transition to productivity valuation and any
changes in the adjustments you make do not exceed the limitation set in statute. If you have
any questions on this process or need assistance, please contact us.
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COUNTY FALL RIVER

WORKSHEET FOR IMPLEMENTATION OF
PRODUCTIVITY VALUATION OF AGRICULTURAL LAND
FOR THE 2014 ASSESSMENT YEAR

CROPLAND

CROP VALUATION

1.

2.

7.

8.

Crop Revenue Olympic Average (2005-2012)
Multiplied by landlord share (35%)

. Revenue attributable to landlord

. Divided by capitalization rate (6.6%)

Average Cropland Value in County

Limitation of increase/decrease (SDCL 10-6-77)
Weighted rating of only crop rated soils

Project to top dollar for crop land (value / weighted rating)

NON-CROPLAND

NON-CROP VALUATION

1

[xed

. Non-Crop Revenue Olympic Average (2005-2012)

. Muttiplied by landlord share (100%)

3. Revenue attributable to landlord

£

W

o2}

. Divided by capitalization rate (6.6%)
. Average Non-Cropland Value in County

. Limitation of increase/decrease (SDCL 10-6-77)

7. Weighted rating of only non-crop rated soils

8. Project to top dollar for non-crop land (value / weighted rating)

TOTAL COUNTY

119.16
0.35
41.71
0.066
631.89
477.35
0.891859

536.22

7.88

1.00

7.88

0.066
119.44
119.44
0.3953710

302.11

The above numbers represent 100% valuations. After applying the above numbers you
should come up to a total county average per acre of $ 168.41
Once you have the crop and non-crop projected top dollar values, you apply those values to the ratings to
determine a dollar value per map unit. The top dollar crop value is applied to the crop ratings and the top
dollar non-crop value is applied to the non-crop ratings. For example, if your best non-crop rating is .62,
then the highest non-crop soil will have a value of 62% of the top dollar non-crop value.

If your computer system only accepts one top dollar value, then put in the top dollar value for crop, and
apply a factor of 0.5644493 to all of your non-crop ratings to get to the dollar value of the non-crop soils
535.22X 0.5644493 = 302.11
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Range Land Study

White N1/2 (PeB)
Sample 1 = 40g 100% dry 40g
Sample 2 = 46g 10-15%to dry 41g
Sample 3 = 38g 10-15% to dry 34g
115g /3 =38g
White $1/2 (NoB)
Sample 1 =42g 100% dry 42g
Sample 2 = 27g 20% to dry (buffalo grass)  22g
Sample 3 = 40g 5% to dry 36g
100g /3 =33g

Frahm NOB south
Sample 1 = 38g 5% to dry

Frahm NOB north *
Sample 1C =30g 5% to dry
Frahm SdB south

Sample 2 = 46g 5% to dry

Frahm SdB north *
Sample 2C = 26g 5% to dry

* this area last cropped in mid 1980’s

> these samples are not intended to be a comparison between White and Frahm.

> these samples were done late in the season, thus were not used for forage calculations, but
rather to demonstrate the difference in grass production within the same pasture.
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Fall River County Statistics

Population = 7,094
Total Sq Miles= 1,743

Total # Acres = 1,115,584

Acreage Breakdown:

AG Land = 783,422 70.2%
NA Land = 30,894 2.8%
ExemptLand = 296,949 26.6%

Unassesssed = 4,319 0.4%

{2% of which is State School Leased Land)

{mostly comprising of Buffalo Gap National
Grassland and Black Hills National Forest, along with
some State, County, and City Land)

(mostly road right of ways)

Total Acres = 1,115,584

Soil Breakdown of taxable AG Land:

Grass Soil Types = 86%

Crop Soil Types = 14%  (51% of these crop soil types have been adjusted to grass ratings)
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Orval and Debra Frahm — Oelrichs SD

Pasture income/ property tax data: for individual pastures and taxes
see the attached sheet

Actual scenario:
1120 ACRES rented at $9.00 per acre per year

(this is right in the range reported to NASS for Fall River
County)

Taxes on 1120 acres total: @2922.10 or $2.60 per acre per year

Income/property taxes ratio is 28%

Another scenario

1120 ACRES rented by AUM (Animal Unit Month) *
28 acres per cow/calf unit per month
$35.00 per month

1120 acres divided by 28 equals 40 cows at $35.00 by 12 months
equals $16,800. Or $15.00 per acre or $15.00 per acre per year

Income/property tax ratio is 17.3%

e The AUM scenario used the methodology used by Russell Wyatt a
local appraiser.
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#1

#H2

#3

#4

Acres

240

400

160

320

1120

parcel #

0500-01007-263-00

07000-01107-091-00

0500-01007-352-00

077-041107-032-00

$2.60 Per acre property taxes

Taxes paid in 2015 for 2014

$709.52

$1285.08

$300.08

$627.42

$2,922.10

Pastures #1 and #2 have a high percent of crop soils

Pastures #3 and #4 are approximately 50% or less crop soils

Our director of equalization has done the stipulations on all pastures.
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